BRETIEME Z S CWEBRICHF S s

Ae i BB E (B

R E

(BEA MR E D

(&M 5

. OFEAIFESR/QIAIHER/QOMFEME

OFHEFIE Q0mBER) /QFHBEAREE TO0mBERR) /@7 REF I It (1230mBEERE) /@FH B 1iE 430mitE) /OB %
@®@F N AFIE (2580m B) /D#EBM R > 2 — (160m FEILFE) /@ L FBEARE (730mitdtR) /@B =

(A /@mflgR/©5HS JLEA) ]

ZHE =t & (1040mdLH) ]

BARE (1590mEILE) /

FRR26EE

g - RS

Y AIE fE (Ba/ke)

#3% A0 R %E {8 (Ba/ke)

HHEREDEMBSRE

05315 N ZE IR E

B 77 R i %E € (Ba/m)

TR 7K GBI 3E i (Ba/ ¥

gl = » B (EERAR: R i 5D |10 2@ SO |AD A HEQ| (EEES1EER (SEMES 1 5D
Blusg |mms|m s |37 | st Cs134 | Cs137 | &%t |50 |1HAD BEE|HED 5G| SE/E|Cs134 | 05137 | HBIE Cs137 | &®iE
N T o3| 265 ss|:| 13| 33| 46
HIEEEEE 59| 185| 244fm| 69| 207| 276
N R 110 s13] azsfx:=| 12| s8]  s0

1.52t| 4.3% o3| 285| 378|m| 77| 221| 298
X 158] 436] o4l = | 13|  a6] 59

1.57¢| 5.2% 120 332 452|M| 89| 268 357

40. 64t 130| a92| s31fE| 10| a9] so
K 2.2 0K

1.52¢] 3.7% 100 298| 39| | 105| 316| 421
N 170] 520 699 x| 18] 50| 63] 0.05 | 0.06 0.03 | 0.03

1.53t] 3.9 92| 260 ss2fm| 120 376] 505 0.05 | 0.05 0.03 | 004

166. 65t . x| camesm| 6

GEFE &) 699
6.91t] 4.1% A& | GEMBEE| 505 GBI | 004




BESEME Z2CHERAICET S RIEE

Q@HBL : R LI /ke

ZX S FAR
AERRY
6/13 (&) |6/16 (A)|[6/17 (X)|6/18 (K)|[6/19 (K)
EHWE (BEXAE) 358 423 594 531 699
EIK (BEAE) 46 50 59 59 63

FRIK (BEAE) 216 298 397 421 505




B EYME =8O WERMICEE T 5 ZMIMSHEE O RITEE
B <4703 —R)L KRB

AR BEENAT HAlE 8
3 =
BRE | BT | H24/11/28 TERFE26E6H198 (K)
(k)

R
35 50cm 0.06 0.05
HABX
open 50cm 0.07 0.06
7K
. 50cm 0.07 0. 04
g
o 21 spm | 0 0.07 0.06
A&
= et | 00 0.06 0.07
RS ET 3 50cm 0.06 0.05
EEn X
Iy 50cm 0.05 0.05
g A REE [ 50cm 0.05 0.05
AEE 50cm 0.08 0.06
&M 15
B 50cm 0. 04 0. 04
(RXIE)

LREBSHEEIC DU TIE, AEXEEANS 28X 1B 1EEEL. FORIZDOULTIE., 1
BRI 1EAET 5.



